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I/ LISTENING (2.5 points)                
Part 1. Listen to a talk about Halloween and decide if each statement is True (T) or False (F). (1,5 points)
	Statements
	T
	F

	1. James is twelve years old and lives in the United States. (NB)
	
	

	2. Children like taking part in Halloween events. (TH)
	
	

	3. His mum bought him a costume. (NB)
	
	

	4. Children make a trick or treat to receive sweets. (VD)
	
	

	5. Before Halloween, we make a dish from a pumpkin. (NB)
	
	

	6. One of the most interesting games among children is pumpkin bobbing. (TH)
	
	


Part 2. Listen and complete the text about traffic in rush hours. (1,0 point)
        There is too much traffic on our roads. In rush hours, it may take (7) (NB) ……………minutes to go through a 02-kilometer road by motorbike(8) (NB) …………….. transport  may be the solution to the traffic jam. The problem is that time is golden, so not everyone agrees to wait for means of public transport such as buses or (9) (TH)…………….. Another problem is that they may not like to be (10) (VD) …………… in a crowded bus. The last problem is that the buses cannot go in a small road, so some people who work in a small road will have to walk for a while.
II/ LANGUAGE (2,5 points)
1/ Choose the word (A, B, C, or D) whose underlined part is pronounced differently. (0,5 point)  
11. A. sign                        B. motorbike        C. fine                D. sit          (NB)                
12. A. pleasure                B. ear                        C. fear                D. idea (NB)
	11.
	12.


2/ Choose the best word and phrase (A, B, C, or D) to complete the sentences below. (2,0 points)
13. Mary overslept this morning………she went to bed late last night.  TH
A. although                        B. because                C. so                        D. however
14. You…………put the rubbish in the waste bins over there.         TH
A. should                        B. shouldn’t                C. would                D. couldn’t
15. What must you do before you turn left or right when ……………a bike? (TH)
A. holding                                B. making                 C. taking                  D. riding
16. TV programs for small children shouldn’t include …………….scenes. (TH)
A. interesting                   B. gripping                C. violent                D. boring
17. She ……………..…… to school every morning.    (NB)
A. walks                        B. walking                C. walked                D. to walk
18. We shouldn’t …..our bikes very fast in the rain. NB
A. ride                        B. riding                C. to ride                D. to riding
19. We often………Tet holiday on the first day of the new year. VD 
A. celebration                B. celebrate                C. celebrated        D. celebrating
20. Replacing the underlined parts with the same meaning ones:
Nam is very fond of seeing the pictures at the exhibition. VD
A. interested having a look at                        B. interested in have a look at                
C. interested in having a look at                        D. eager to having a look at
III/ READING (2.5 points)        
1/ Read the conversation between Mark and Mi, then choose the correct answer A, B, C or D. (1,5 points)
Mark:         Let’s…(21)… to the cinema tonight.
Mi:                 Good idea! What shall we see?
Mark:         A Nightmare is…(22)... at Sao Mai cinema tonight.
Mi:                Is it a fantasy?
Mark:         No. It’s a …(23)... film.
Mi:         That’s too scary for me. Look! An Old pier is on at Town Cinema. It’s a documentary.
Mark:         I don’t really like documentaries. They …(24)... often boring. What about Our Holiday?
Mi:                 What kind of film is it?
Mark:         It’s a comedy.
Mi:                Oh. It makes me …(25)… so much. And who stars in it?
Mark:                Kate Harrison and Lily Collins.
Mi:                Um. They’re pretty good. What is it about?
Mark:         It’s about two women living in different countries and they decide ….(26)… houses.
21. A. go                        B. going                        C. went                D. gone      (NB)
22. A. at                        B. in                                C. on                        D. from      (NB)
23. A. comedy                B. horror                         C. cartoon                D. fiction    (TH)
24. A. is                        B. am                                C. be                        D. are                 (NB)
25. A. laugh                        B. sad                                C. crazy                D. horrible  (TH)
26. A. exchange                B. exchanging                C. to exchange        D. exchanged (VD)
2/ Read the passage about the traffic jam and choose the correct answer for each question (1,0 point)
Richard Ryan is stuck in traffic. There must be an accident somewhere up ahead because he's been sitting in the same spot for the last few minutes. The cars aren't moving at all. It looks like it's going to be another slow commute.
Even though he left his house early to beat the traffic, if the cars don't start to move soon, Richard will be late for a very important meeting. He has to meet with some lawyers who are advising his company on a construction project. Richard is the president of a big company. If he's late, he won't get in trouble, but he hates to be late for anything.

Sergey is stuck in the same traffic jam, and he's headed to the same meeting that Richard is going to. He's worried about being late, so he gets out his cell phone and calls one of his coworkers to tell her that traffic is bad. Sergey doesn't know that his boss, Richard, is in the same traffic jam. If he knew that, he wouldn't be so tense.
27. Is Richard Ryan stuck in traffic? (NB)
=>………………………………………………………………………………………
28. Why will Richard be late for a very important meeting? (TH)
=>……………………………………………………………………………………….
29. Who is the same stuck in traffic jam? (NB)
=>………………………………………………………………………………………..
30. Is traffic jam not only a serious problem in Richard’s city? (VD)
=>……………………………………………………………………………………….
IV/ WRITING (2.5 points)        
1/ Which of the underlined parts in each sentence is incorrect? (0,5 point)
31. There is a red light, so you shouldn’t crossing the road. It’s dangerous. (NB)
                 A                   B                       C                             D
32. Although Miss White was tired, but she watched a movie late  last night. (NB)
                                               A       B     C               D
2/ Rearrange the words/ phrases into suitable sentences. (0,5 point)
33. How far /from your house / is it / to school/ ?  TH
=> ……………………………..…………………………………
34. I / Tulip Festival / went to / 2 years ago. TH
=>  ………………………………………………………………
3/ Rewrite the sentences, using the words given. (0,5 point)
35. The distance from my school to my grandfather’s house is 10 kilometers. VD
=> It’s …………………………………………………………….…..…
36. He was tired, but he still took part in the football match. VD
=> Although ………..……………………………………………..…….
4/ Write the sentences, using the words/ phrases given. (1,0 point)
37. Walking here/ be/ dangerous/ because/ lane/ be/ for/ cycle/ only.  (VDC)
=> ……………………………………………………………………….
38. My brother/ still/ go/ school/ though/ he/ be/ sick/ last night. (VDC)
=>………………………………………………………………………..
39. Tet holiday/ be/ most/ important/ celebrate/ Vietnamese people. (VDC)
=>………………………………………………………………………..
40. They/ perform/ traditional dances/ festival/ next weekend. (VDC)
=>………………………………………………………………………..
-THE END -
ĐÁP ÁN VÀ HƯỚNG DẪN CHẤM ĐỀ KIỂM TRA GIỪA KÌ II
MÔN: TIẾNG ANH – LỚP 7
I/ LISTENING (2.5 points)                
Part I. Mỗi câu đúng được 0,25 điểm
	1. T
	2. T        
	3. F
	 4. T
	   5. F
	6. F


Part II. Mỗi câu đúng được 0,25 điểm
7. 20                  8. public                     9. trains                    10. stuck
II/ LANGUAGE (2,5 points)
1/ Mỗi câu đúng được 0,25 điểm  
11. D                            12. A
2/ Mỗi câu đúng được 0,25 điểm
13. B                14. A                15. D                16. C                17. A                18. A                19. B            20. C
III/ READING (2.5 points)        
1/ Mỗi câu đúng được 0,25 điểm        
21. A                22. C                23. B                24. D                25. A                26. C
2/ Mỗi câu đúng được 0,25 điểm
27. Yes, he is.
28. Because of the traffic jam.
29. Sergey (is in the same stuck in traffic).
30. Yes, it is
IV/ WRITING (2.5 points)                
1/ Mỗi câu đúng được 0,25 điểm 
31. C                32. C
2/ Mỗi câu đúng được 0,25 điểm
33. How far is it from your house to school?
34. I went to Tulip Festival 2 years ago.
3/ Mỗi câu đúng được 0,25 điểm
35. It’s 10 kilometers from my school to my grandfather’s house.
36. Although he was tired, he still took part in the football match.
4/ Mỗi câu đúng được 0,25 điểm
37. Walking here is dangerous because this/ the lane is for cycling only.  
38. My brother still went to school though he was sick last night.
39. Tet holiday is the most important celebration for Vietnamese people.
40. They will perform traditional dances at the festival next weekend.
-The end-
A. LISTENING
Part 1: (Track 1) Tapescript
HURRAY, HALLOWEEN
        Hello friends! My name is James and I am twelve years old. I live in the United States. Today, it is October 31 and it is Halloween.
        Children wear special costumes: witch, wizard, vampire, etc. (This year, I am going to be a scary ghost. My mum made my costumes).
        We go to houses, knock on doors and say “Trick or Treat”. People usually give us some sweets as a treat. If someone does not give us a treat, we play a trick on him or her.
        Before Halloween, we make a lantern from a pumpkin and light candles inside it. Its name is Jack-O-Lantern. In the evening, we usually go to Halloween parties and play games. One of the games we play is apple bobbing.
Part 2: (Track 2) Tapescript
TRAFFIC
        There is too much traffic on our roads. In rush hours, it may take 20 minutes to go through a 02-kilometer road by motorbike.
        Public transport may be the solution to the traffic jam. The problem is that time is golden, so not everyone agrees to wait for means of public transport such as buses or trains. Another problem is that they may not like to be stuck in a crowded bus. The last problem is that the buses cannot go in a small road, so some people who work in a small road will have to walk for a while.
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